
Pennsylvania Turnpike Commission

Bid Tabulation

RFx Number 6200001162 Awarded To:

Due Date: 12/28/2017 Modern Group LTD Trius Inc

7000009613 7000009614

Net Value $30,423.50 $32,446.15

QUANTITY UNIT NET PRICE NET PRICE

1 FLANGE BLOCK LOW OIL SHUT OFF 100CC PUMP 734 1 EA 652.00$                   652.00$       

4 SENSOR CONVEY/AUGER SPD 16-PULSE 741 1 EA 223.00$                   223.00$       

5 INLET SECTION TOP PORTED 1 IN SAE PRESS 743 1 EA -$                         -$             

6 END COVER SECTION FOR MP18 VALVE 744 1 EA 309.00$                   -$             

7 VALVE SECTION SPINNER SERIES 10 745 1 EA 1,336.00$                1,336.00$   

8 VALVE SECTION AUGER WITH REVERSE SERIES 746 1 EA -$                         -$             

9 VALVE SECTION DUMP BODY SERIES 10MP18 747 1 EA -$                         -$             

10 VALVE SECTION PLOW SERIES 10MP18 W/12V 748 1 EA -$                         -$             

11 INLET SECTION CLOSED CENTER FOR MODEL 756 1 EA 189.00$                   185.00$       

12 O-RING KIT FOR ELECTRICALLY ACTUATED 758 1 EA 2.00$                       -$             

13 BOLT KIT FOR 5 SECTION BOSCH REXROTH 759 1 EA 77.00$                     75.00$         

14 O-RING AND SHIMS KIT BOSCH REXROTH 760 1 EA 5.00$                       5.00$           

15 MOTOR HYDRAULIC FOR COMPU-SPREAD 1389 1 EA 410.00$                   402.00$       

22 CABLE ASSEMBLY POWER FOR CS-105 BOX 2479 1 EA 127.00$                   124.00$       

26 SPEED SENSOR FLANGE STYLE MOUNTED 2484 1 EA 155.00$                   152.00$       

27 SENSOR KIT CONVEYOR FEEDBACK GEAR BOX 2485 1 EA 413.00$                   405.00$       

29 KIT FEMALE CABLE REPAIR 9160 1 EA 8.00$                       8.00$           

30 EPROM COMPU-SPREAD CS220/CS230 VERS 8.0 9546 1 EA -$                         -$             

31 BATTERY LITHIUM 3.6V COMPU-SPREAD 9547 1 EA 32.00$                     31.00$         

32 SWITCH PAUSE/REV COMPU-SPREAD CS220/230 9567 1 EA -$                         -$             

33 BLAST SWITCH COVER C-SPREAD CS220/230 9572 1 EA 7.00$                       7.00$           

34 VALVE FLOW CONTROL CARTRIDGE 9980 1 EA 87.00$                     85.00$         

35 COIL 12V DC USED W/POPPET VALVE 9981 1 EA 40.00$                     39.00$         

36 VALVE DIRECTIONAL CONTROL POPPET CARTR 9982 1 EA 87.00$                     85.00$         

37 VALVE DIRECTIONAL CONTROL 2 POS 4 WAY 9988 1 EA 332.00$                   325.00$       

38 VALVE PRESSURE REDUCING CARTRIDGE 9989 1 EA 648.00$                   635.00$       

39 POWER FLOAT MANIFOLD ASSY BOSCH REX 9990 1 EA 1,604.00$                1,572.00$   

40 CONNECTOR ELECTRICAL Z45 9993 1 EA 7.00$                       7.00$           

41 COIL 12V DC USED W/DIRECTIONAL VALVE 9994 1 EA 45.00$                     44.00$         

42 PUMP BRONZE GEAR 08/09 CALCIUM TANKS 10034 1 EA 692.00$                   678.00$       

43 SCREW CAP SOCKET HEAD M5X55-8 1EA/SECT 10035 1 EA -$                         -$             

44 SCREW CAP SOCKET HEAD  M6X55-8 2EA/SECT 10036 1 EA 2.00$                       2.00$           

45 SPRAY NOZZLE WIDE ANGLE SS FLAT SPRAY 10037 1 EA 31.00$                     30.00$         

46 SPRAY NOZZLE BODY 3/4 IN TEE FITTING 10038 1 EA 10.00$                     10.00$         

47 MOUNTING BRKT SS 2 NOZZLE SPRAY BAR ASSY 10039 1 EA 32.00$                     31.00$         

48 SPRAY NOZZLE BODY 3/4 IN 90 DEG ELBOW 10040 1 EA 10.00$                     10.00$         

49 CAP FOR NOZZLE BODY BLACK 10041 1 EA 2.00$                       2.00$           

50 GASKET NOZZLE BODY CAP 10042 1 EA 2.00$                       2.00$           

51 CS-440 SPREADER DISPLAY 08/09 MACKS 10053 1 EA 1,698.00$                1,664.00$   

52 SPREADER CONTROL ASSY 440 SPREADER 10054 1 EA 66.00$                     65.00$         

53 SEAL KIT M4-12-2X W/SERIES 2XA SIDE COVR 10055 1 EA 118.00$                   116.00$       

54 AUGER VALVE SPOOL 65LPM 10056 1 EA 120.00$                   118.00$       

55 PLOW VALVE SPOOL 45LPM 10057 1 EA 56.00$                     51.00$         

56 PRE-WET & SPINNER VALVE SPOOL 30LPM 10058 1 EA 118.00$                   116.00$       

57 LIGHT BULB 12V 1W FOR ROCKER SWITCHES 10059 1 EA 2.00$                       2.00$           

58 PRE-WET FLOW METER W CONNECTOR 10060 1 EA 336.00$                   329.00$       

59 FILTER ASSY 3/4 IN FEMALE THREADED ENDS 10061 1 EA 73.00$                     72.00$         

60 PIPE CLAMP 3/4 IN QUICK TEE/90-DEG NOZZL 10062 1 EA 5.00$                       5.00$           

61 CONVERTER CABLE 8 IN ITT TO C4 10063 1 EA 63.00$                     62.00$         

62 EXTENDER CABLE 15FT VALVE OUTPUT FOR M4 10066 1 EA 74.00$                     73.00$         

63 INTERCONNECT CABLE 15FT 10068 1 EA 47.00$                     46.00$         

64 EXTENDER CABLE 30FT SPEED SENSOR 10069 1 EA 91.00$                     89.00$         

65 ELECTRONIC CONTROL UNIT PROGRAMMED 10070 1 EA 1,438.00$                1,409.00$   

66 CARTRIDGE WITH COIL LOW OIL SHUTDOWN 10072 1 EA 153.00$                   150.00$       

67 PROPORTIONAL COIL 12V DC FOR M4 VALVE 10073 1 EA 153.00$                   150.00$       

68 SOLENOID INSTALLATION TOOL 10074 1 EA 185.00$                   181.00$       

69 PUMP COMPENSATOR '04-'07 MACKS MP18 VALV 10075 1 EA 257.00$                   2,525.00$   

70 JOYSTICK PLOW '08-'11 MACKS 10076 1 EA 2,577.00$                2,525.00$   

71 JOYSTICK WING '08/'09 MACK TANDEMS 10077 1 EA 1,852.00$                2,036.00$   



72 JOYSTICK BODY '08-'11 MACK 10078 1 EA 1,168.00$                1,284.00$   

73 CABLE RIBBON STYLE BOSCH REXROTH CS440 10583 1 EA 6.50$                       7.15$           

74 MOUNTING ADAPTOR HYD MOTOR/PUMP 10607 1 EA 93.00$                     91.00$         

75 CABLE 4 FUNCTION VALVE W/C4 CON PLOW/BED 11013 1 EA 442.00$                   433.00$       

76 CAP DUST MALE FOR SENSOR CABLE CONN 11090 1 EA 29.00$                     28.00$         

77 CAP DUST FEMALE FOR CABLE END OF CSS 11091 1 EA 27.00$                     26.00$         

78 CAP DUST FEMALE PLUG M-4 CONNECTOR 11098 1 EA 21.00$                     21.00$         

79 CAP DUST MALE PLUG M-12 CONNECTOR 11099 1 EA 4.00$                       4.00$           

80 CAP DUST FEMALE PLUG M-12 CONNECTOR 11100 1 EA 2.00$                       2.00$           

81 COUPLING HALF WET TANK MOTOR 11116 1 EA 29.00$                     28.00$         

82 COUPLING SPIDER CS-PWS-PUH-PUMP-N993 11117 1 EA 16.00$                     16.00$         

83 HARNESS RCE IN-VALVE CS550/150 COMPU 11615 1 EA 1,253.00$                1,228.00$   

84 MICROCONTROLLER RC4-4/20 CS-550 COMPU 11616 1 EA 939.00$                   920.00$       

85 CABLE ASSY 2 FUNCTION CABLE W/CONNECT 11617 1 EA 92.00$                     90.00$         

86 CABLE HARNESS LIGHTING OUTPUT CS-140 11618 1 EA 217.00$                   213.00$       

87 CABLE CANBUS SHEILDED M12-8 CS-550 11619 1 EA 143.00$                   140.00$       

88 ADAPTER CABLE POWER FLOAT CS-550 11620 1 EA 37.00$                     36.00$         

89 KIT RETROFIT CS-420 BOSCH REXROTH 11705 1 EA 1,641.00$                1,608.00$   

90 LID ASSY 6 IN W/SEAL RING BOSCH REXROTH 11854 1 EA 50.00$                     49.00$         

91 STRAP FASTENER HOOD BOSCH REXROTH 11855 1 EA 14.00$                     14.00$         

92 HOSE CLEAR BRAIDED 1/2 IN DIAMETER 11856 1 FT -$                         -$             

93 HARNESS MAIN CS-550 BOSCH REXROTH 11857 1 EA 1,050.00$                1,030.00$   

94 SENSOR PROXIMITY CS-550 BOSCH REXROTH 11864 1 EA 161.00$                   158.00$       

95 HOSE END BARBED 3/4 MALE-1/2 B/REXROTH 11866 1 EA 2.00$                       2.00$           

96 HOSE END 90DEG BARBED 1/2 TO 3/4 REXROTH 11867 1 EA 2.00$                       2.00$           

97 FLOWMETER W/C/W M-12 CONNECTOR 11868 1 EA 318.00$                   312.00$       

98 PUMP COMPENSATOR '08 UP MACKS MP4 VALVE 11871 1 EA 276.00$                   541.00$       

99 CABLE 10 METER SENSOR EXTENDER B/REXROTH 11872 1 EA 66.00$                     65.00$         

100 JOYSTICK 2012 AND NEWER MACKS CS-150 12030 1 EA 851.00$                   834.00$       

101 SCREEN DISPLAY CS550 CTRL 12-13' MACK 12031 1 EA 2,696.00$                2,642.00$   

102 CAP W/SEAL RING P/WET/TANK 12-13' MACK 12032 1 EA 21.00$                     21.00$         

103 CABLE CANBUS SPLITTER W/M-12 CONN CS550 12053 1 EA 265.00$                   260.00$       

104 CABLE M-12 SERIAL COMM GPS/TEMP SENSOR 12054 1 EA 127.00$                   124.00$       

105 CABLE C-4 CANBUS TO DIN CONNECTOR CS550 12055 1 EA 44.00$                     50.00$         

106 CABLE INTERCONNECT CS-440/140 12056 1 EA 192.00$                   188.00$       

107 CABLE M-12 CANBUS 10 FT CS-550 12057 1 EA 128.00$                   125.00$       

108 CABLE VALUE EXTENDER 30 FT W/LIT C-4 CON 12058 1 EA 61.00$                     60.00$         

109 CABLE M-12 AUXILIARY EXT 10 FT BARE LEAD 12059 1 EA 33.00$                     32.00$         

110 CABLE M-12 VEHICLE SPEED W/LINNED LEADS 12060 1 EA 38.00$                     37.00$         

111 CAP DUST PLUG C4-M CONNECTOR 12087 1 EA 9.00$                       9.00$           

112 NUT ACORN 3/8 IN X 16 HYD TANK CLEAN OUT 12124 1 EA 10.00$                     10.00$         

115 STUD FOR NUT 3/8 INX16 HYD TNK CLEAN OUT 12127 1 EA 6.00$                       2.00$           

116 BATTERY 3V LITHIUM FOR CS440 CONTROL BOX 12455 1 EA 12.00$                     -$             

117 TANK 75 GALLON REXROTH POLY TAILGATE MT 12763 1 EA 742.00$                   727.00$       

118 CABLE CAN BUS HUB FITS IN ARMREST 13366 1 EA 32.00$                     31.00$         


